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Encontrando & promedio de dos nUmeros

Nombre:

Encuentra el promedio del par de nimeros.

1) 969 & 350
2) 88& 38
3) 401& 854
4) 8528& 221
5) 664 & 363
6) 486 & 348
7) 51& 53
8) 688& 24
9) 478& 52
10) 526 & 838
11) 73& 82
12) 18& 19
13) 24 & 32
14) 2418& 981
15) 941 & 593
16) 15& 76
17) 70& 61
18) 22& 35
19) 41& 79

20) 96 & 41
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ﬂ; Encontrando & promedio de dos nUmeros

Nombre: Clave De Respuestas

Encuentra el promedio del par de nimeros.
1) 969 & 3501319 + 2 = 659.5

2) 88& 38 126+2=63

3) 401 & 8541255+ 2 =627.5

4) 852 & 2211073 +2=536.5

5) 664 & 3631027 + 2=513.5

6) 486 & 348834 + 2 =417

7) 51& 53 104+2=52

8) 68& 24 92+2=46

9) 47& 52 99+2=495

10) 526 & 8381364 +~ 2 = 682

11) 73& 82 155+2=775

12) 18& 19 37+2=185

13) 24& 32 56+2=28

14) 241 & 9811222 + 2 =611

15) 941 & 5931534 + 2 = 767

16) 15& 76 91+ 2=455

17) 70& 61 131+2=655

18) 22& 35 57+2=285

19) 41& 79 120+2=60

20) 96& 41 137+2=68.5
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